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. A= F2Y 1,862,700 *1/2+6% 23] 11,177
OJE=d 60,0003 x7E*12& 5,040
OZF2==EII3 5,280
. NEX 80,000 x1H«12& 960
. = 60,000 x6H x12& 4,320
OZFAZAHI 130,000 7H + 122 10,920
Qus=2=H| 130,000& 7H + 122 10,920
Og &SIty 16,161
. NEX 2,290,800& +0.6+1H x23] 2,749
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AN 2322
HH: MENSELS(SSL2E/HE)
ool MSEE ¥ AKX (pel @
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
o H= 1,862, 700& *0.6+6H »23 13,412
OItA X &bl 26,935
o N=Xt 2,290,800& +0.4x1H x53] 4,582
o M= 1,862, 7003 »0.4+6E »53| 22,353
OS2 A3 161,605,000& +1/12%1/30«10 4,490
OAg 22 11,940
. NEX 155,000& 1 =123 1,860
. H== 140,000& 6 122 10,080
Osdg=d 17,400
o NEX 250,000& 18« 123 3,000
o M= 200,000& »6H 123 14,400
ONEXt=E& 100,000& 1 =123 1,200
OztAld| 50,000& x7H 128 4,200
OXNEX st 500,000& 1 =123 6,000
OR=d+ =& 500,000 x6E x12& 36,000
O&z= 11,000, 000& 11,000
OzldazEazd 3,000,000& #32] 9,000
Ogt=4agHY H3ld| 2,000,000& *12] 2,000
Ol =l 15,000,000& 15,000
O=2sE3Hl 25,000,000& 25,000
Ol sl &ot3Hl 35,000,000 35,000
O=gl 46,120
. MXEHHI(S,5HH) 5,000, 000& *22] 10,000
. HAEE AEE 360,000& 7 ~12& 30,240
. A 70,000& x7H 128 5,880
O& =zl &FItAd 2,000,000& 2,000
=F2 H=s= s NE 84,025 87,008 N2,983
307 Q12t0lH 84,025 87,008 A2,983
02 It a2 x 84,025 87,008 N2,983
o=z M= N 59,117
O&Z A 1A 48,717,000& 48,717
OFJIs= 4 2482 S 8,000, 000& 8,000
OAR4 23| 2,400,000& 2,400
o=z dEHMss A 24,908
Oa 23 2lAy] 16,508, 000& 16,508
OAMR4 24 2,400,000& 2,400
OJEdEHsEE 6,000, 000& 6,000
z)|el ¥ d=03 X 543,100 490, 100 53,000
307 2120l & 543,100 490, 100 53,000
04 DIZHHALE X 543,100 490,100 53,000
OHMI132] AI2IME =2 33,000,000& 33,000
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SN 252
Ha: MBHSTLE(SHUBB/IS)
Sl HSES Y AKX (e

CHE -GS (B) - HRAY - BaS sk e 2t
OM125 2= =-U3 13,600,000& 13,600
OHM9gl == Hi-1CH3 5,500,000& 5,500
OHN 128 2=+J =&Uz3 6,600,000& 6,600
OM118l 2=J] BHE2IEHH 3 13,000,000& 13,000
OM78 2= 0FLH& 7,500,000& 7,500
OAM123l =2=J| HLIAW= 5,500,000& 5,500
OM115 2= -3 5,500,000& 5,500
OHM108 2J =Wzl 5,500,000& 5,500
OM1zE 2=I E2U3 5,500,000& 5,500
OHN123 Z2=I| HOE2U 3 5,500, 000& 5,500
OM7a 2= St 5,500, 000& 5,500
ON73 Z=I| ZAAl SOISHOE2U S
5,500, 000& 5,500
ON73 22| RAY =503 17,000,000 17,000
OM3g =Z=J 23 5,500,000& 5,500
ON3s Z2=J| WHA2ec01Y U3
5,500, 000& 5,500
OHM23 Z=I| SAIUHS 5,500, 000& 5,500
OHM2g Z=J| =ZU3 5,500,000& 5,500
OHM1g Z=J| IFEIIZUS 5,500,000& 5,500
ON1al Z=J| Z&U3 5,500,000& 5,500
O+ &2 ¥2HA=U3l 50,000,000 50,000
OSY MEd=sUHa (=7, +) 26,400,000 26,400
o=UE HA=2E 29 14,000,000& 14,000
O0AN=ET 2435 XNA(S,¥) 22,000,000 22,000
o433 M=z & X& 30,000, 000& 30,000
Od= 510Uz 100,000, 000& 100,000
O&lot 8=6CHE el E=F U3l
35,000,000& 35,000
O SEMaA 4,000,000 4,000
OXM=¢l stots Utz 22,000,000& 22,000
ORAdE 54 2 KFLHEAE X
10,000, 000& 10,000
Od =LA SEHH 2 30,000, 000& 30,000
oz=olALgel sl 30,000,000& 30,000
os&Uz &It XA 2,000, 000& 2,000
I 2IE A B O3] 300,000 280,000 20,000
gI2tol A 300,000 280,000 20,000
QIZFHAIE X 300,000 280,000 20,000
Ol =2 X&Hl 150,000, 000& 150,000
OZ 38 Attl 150,000, 000& 150,000
Isns 29 15,002 15,002 0
Al 7,501
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SN
X XH .
S Tt

oLk

[
2

=2
e
J2H

M

7,501

307 2120l &

H =

15,002

7,501
7,501

15,002

©)
0z
0]
g

=
e
s
o
0

H0H
S
|
H0
02

15,002,000

H =

15,002
15,002

7,501
7,501

15,002

0ol Msuwa X

H =

4,320

,160
,160

N

4,320

307 2120l &

H =

,320

160
160

4,320

02 QP ABE

H =

320
320

160
160

4,320

H =

,320

160
160

4,320

307 2120l &

H =

,320

160
160

4,320

02 2I2tA 2t

H =

320
320

,160
,160

PN B MIPODND MDD MDD A MDD MIDN

4,320

H =

3,960

1,980
1,980

3,960

307 2120l &

H =

3,960

1,980
1,980

3,960

02 2Iz2tA 4

H =

3,960
3,960

1,980
1,980

3,960

Jl
Al
e

[

209,280
104,640
52,320
52,320

209,280

307 QI2t0ld

Il
Al
-

[

209,280
104,640
52,320
52,320

209,280




SN 252
M MEHSTHE(2UBL/IS)
Sl HMSEHE U AKX (=CR-E
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
02 QIAAMBE 209,280 209,280 0
OMEBHIX K BHXIALL! 209,280,000 209,280
| 104,640
Al 52,320
2 52,320
HZMUHSEE KT X AL 41,856 41,85 0
| 20,928
Al 10,464
2 10,464
307 2120/ & 41,856 41,856 0
| 20,928
Al 10,464
2 10,464
02 DIRHMBE 41,856 41,856 0
ONZMUHSEEXNT XA
41,856,0002 41,85
| 20,928
Al 10,464
2 10,464
ARXHISH AlEAL 1,000 15,000 A4,000
| 5,500
Al 2,750
2 2,750
307 2120/ & 11,000 15,000 A4,000
| 5,500
Al 2,750
2 2,750
02 DIIAMBE 11,000 15,000 4,000
OATXHI2H Al AL 11,000,00024 11,000
| 5,500
Al 2,750
2 2,750
Zst HHOIK HIXIg2lE T3l 250,000 0 250,000
307 212+0| & 250,000 0 250,000
04 QIABALRE 250,000 0 250,000
OB HIH 04 RHHl X1 2 2] = 04 8l 250,000
HMEANE S8 U 22 6,840,665 4,666,300 2,174,365
Al 2,800,000
2 4,040,665
MEHSAE 23 1,126,800 1,913,800 AT787,000
203 Y=Y 800 800 0
03 AIZZ=RHREZAY| 800 800 0
OMEBHSAIL MXE ASEX 800,008 800
401 AEHILS T 1,126,000 1,913,000 AT87,000
01 Al&H| 1,120,000 1,908,000 788,000
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SN 2B
HH: MENSELS(SSL2E/HE)
ool MSAA A3 Y el (a2
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OAl£H] 1,100,000
OAHEIERIE SEAMY 150,000,000& 150,000
Ooger 28 MsA4E £X 50,000,000 50,000
O8N WEHSIY Y &3
150,000,000& 150,000
O8AM d&dXM=X MEAME =4
200,000,000& 200,000
OMS ot ZAZIIF £X 150,000,0002 150,000
OuzvioleERERM 41 U SYE TF
400,000,000& 400,000
O& AIEAHI 20,000
OdE=AE £X 20,000,000 20,000
03 A&20HYI 6,000 5,000 1,000
OMENSAIE &X 6,000,000& 6,000
HEWSAE X 2 665,945 1,192,500 N526,555
101 Q1A 37,437 0 37,437
04 JIAHZ2NHESE= 37,437 0 37,437
o=dzsd, =238 A& 27,437
oJlz=s 32,880 x2& 200 13,744
Osg=¢ 32,8803 x2H 96 6,313
Ou st 5,000 »2H 209 2,090
Or=4=1:] 5,000 »2H 209 2,090
O E=0td| 400,000 »2& 23] 1,600
OJExd 1,600
o HH= A 40,000 x2E *10& 800
. SHIS 20,000 *4H *10& 800
OM=AE 334 10,000,000 10,000
201 et 40,200 0 40,200
01 At22t2lH 23,200 0 23,200
Oget=2H| 3,200
OM=AE mX2el 228 2¢ 3,000
. 2LHESE 1,000,000 1,000
. AEESE 1,000,000 1,000
., LY H=s33 1,000,000 1,000
=D M 200,000& 200
Ogx= 20,000
OZFHL (BN TSR A3 )
20,000,000 20,000
02 3224l 17,000 0 17,000
0s32= & HAl 17,000
OM=EAE sX&c 882= 17,000,000 17,000
401 AEHIL 20 588,308 1,180,000 A591,692
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S 2stEe
B MBHSTYSHSIUDT/HE)
©el HSAL 29 2 22 (298
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K %Egﬁ Blusz
01 Al&H] 585,000 1,175,000 590,000
OAlI&H] 575,000
O24& =4 2BMZ JHIAFY 100,000,002 100,000
OO0 S HOESE AXNC LX
20,000,0002! 20,000
O2% 25 HLIAK WADH BA
20,000, 0002 20,000
O2% MSZY ZHAY 60,000,000 60.000
OHAN HOEST A& (HTR) T
20,000,0002 20,000
SSHOESH QXL &1
30,000,0002! 30,000
O2& & =7F JUIAY 25,000,009 25,000
ONS ZS ¥7 57T JHIAY
50,000, 0002 50,000
OMBHSALES RXS4H 80,000,002 80,000
OABRATZNI 44SHZI| 014
10,000,0002! 10,000
OS2 +HIBE EX0HLH]
60,000,0002! 60,000
O & A& K] 10,000
OMBHSAE FX22 10,000,0002! 10,000
03 Al&=0HH| 3,308 5,000 A1,692
OMEBHSAL K22l 525,000,000 %0.63% 3,308
SFICH THAY 20,000 0 20,000
401 A& =0HY| 20,000 0 20,000
01 Al&H] 20,000 0 20,000
OSFZEE THAY 20,000
O A& ] 20,000, 0002 20,000
HSeRSSE ZSAY 2,800,000 0 2,800,000
A 2,800,000
401 A& =0HY| 2,800,000 0 2,800,000
A 2,800,000
01 Al&H] 2,600,000 0 2,600,000
ONSHOISEE LAY  2,600,000,0008 2,600,000
A 2,600,000
02 2ol 200,000 0 200,000
ONSHOISEE LAY 200,000,008 200,000
A 200,000
SESST ZSAY 2,207,920 1,370,000 837,920
401 A& =0l 2,207,920 1,370,000 837,920
01 Al&H] 2,200,000 1,370,000 830,000
08E& 5% THAY 2,200,000
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SN 22
Ha: MBHSTHE(SHUBB/IS)
Sl HSAL M3 2 e (e
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Off &F 04 il i~ o Rz
OAl&H] 2,200,000, 0002 2,200,000
03 Al& S CHY| 7,920 0 7,920
OSZ= 25% LAY
2,200,000,0002! *0. 36% 7,920
2u2EY =4 20,000 0 20,000
401 AEHIYL 2] 20,000 0 20,000
01 Al&| 20,000 0 20,000
O& A& Y| 20,000,0002 20,000
HH2YAH(2S2Z D) (JIEHIIE) 83,556 83,404 152
olE 2 (2522 D) 4,200 4,200 0
oIzt 2| 4,200 4,200 0
203 YR =X 4,200 4,200 0
04 RNSYHREAY] 4,200 4,200 0
oORNSYLRET 350,002 *122 4,200
2B (2R D) 79,356 79,204 152
= 79,356 79,204 152
201 Y2 Y| 30,396 30,244 152
01 AtRZ2lt| 30,396 30,244 152
CETIES=1 3,260
OsUN MY 13,260,000 3,260
o3| 17,136,000 17,136
202 01t 48,960 48,960 0
01 =Ujoit] 48,960 48,960 0
R 48,960,00024 48,960
WSS (22T (2L /2Y) 2,530,870 814,664 1,716,206
S HHXI & (25H 22 D) 2,530,870 814,664 1,716,206
ANER2BE 29 2,530,870 814,664 1,716,206
309 BIILBMHES 2,530,870 814,664 1,716,206
02 BA- BHANREZ 2,530,870 814,664 1,716,206
ON&R2IBE SH(HWSANEES)
794,319,000 794,319
OANLRRBE 2 (201312)
1,483,901,000%! 1,483,901
OAN&R2IBE 2Y(SF252T)
84,296,0002 84,296
OANER2IBE S (HRAIIE)
168,354, 0002 168,354
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